22W-MATH-32B-LEC-4 Thursday Quiz 5 (Group)

DAN TSAIl, STEVE SABIN LEE, JUSTIN ANDREW SHEU, DEVYN MOTOKO CHUN, BRIAN
LIHENG YANG, BENSON HEN-YI LIU

TOTAL POINTS

100/100

QUESTION 1

1125/25
v - 0 pts Correct: $$\In(\frac{4)}(3))$$ or equivalent
- 2 pts Minor calculation error

- 3 pts Did not calculate work _against_F

QUESTION 2
2225/25
v - 0 pts Correct
- 2 pts Minor calculation error

- 5 pts Did not plug in point P

QUESTION 3

3325/25
v - 0 pts Correct
- 5 pts Missing domain of t.

QUESTION 4

44 25/25
v - 0 pts Correct

- 3 pts Minor calculation error
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Name (UIDs): Benson Liu (405753610), Devyn Chun (305565233), Brian Yang (905747023),
Justin Sheu (405773496), Daniel Tsai (305799699), Steve Lee(205827706)
TA/Section: Bertrand Stone/Discussion 4F

1. From (1,1) to (2,4): work=In(2) and from (2,4) to (3,4) work=In(%5). Total work=In(4/3)

2. div(G)=37/100 and curl(G)=<%, 4/25, -%>
2. Compute div(G) and curl(G) at P = (5,2,4) for
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